MATH 119 2020-1 Recitation Problems for Week 02

1. Sketch the graph of the following function and evaluate the limits

if r < -1
flz) = if-1<z<1
(x—1)* ifmmms x> 1

a limpay-a f(z)=?
b. “lll,~ .(;f(.l‘:) :‘.,

c. lim,, f(z) =?
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4. Let f(zx) =z — \\IJ

a. Sketch the graph of f.

b. If n is an integer, evaluate

(i) lim,_,,- f(x)
(H) hnl;l,‘—)n+ f(T)

c. For what values of a does lim,_,, f(x) exist?
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5. If f(z) = LzJ + {—J‘J. Show that lim,_,5 f(x) exist but is not equal to f(2).
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6. Evaluate

MuH‘(l (A vide 197 canjusol"‘cs (U——q*ﬂ and (\JB A 41)

L=  (J3-x'«2) _/ x4i_ 2
o, T= f""’gﬂ, (- z)“‘/{m’ 42
D2 CM( 6-r + KDL

7. Prove that

a. lim,_,oz? cos( 2/x)

b. limy,_,q+ Vhes(7/h)

finre, /(:“,\, (_)("'\:O :j,'/v‘ (flf)) We o):)‘}o:f\ bj S vceze
N K—>O Theofen

= We <S~‘em( >

(- [F8)= 0 = :’10( )
/-'rﬂ(h-‘ e_r‘n(f}: O

W= 0

o%\/\/e heave \()«j -Sque—(iZ& -ThmJ



8. Evaluate

9. Evaluate




